CEOHEBR LA —V F k&

1 Hased FEke (5 Fn 64105 1 HE)

FIAENEDFA
X5y i ik wIH e ) RS I
= — - — JE R LA O
(TR (PR L6 (FRIIRFAND B B
EFET) SERSIFETT) | FHRIONEET) | FRAIOREET ne 7
TR e
RUWNEE K TOM,000 FlE Z
o T s 17,3001 23,1001|  23,100/1| 63,500/ 8.6407]
BRI D5 S
% 1,000/ %#2 3,000 LRH Mz )
B [PuFoamse 95,900/ 34,600/  34,600M| 95,100 LR 4720
i EHEIN T D854 12,900H
i 4,620 4,940
/]‘ 3,000 Z#x DA 1B %720
N TR 34,600 46,200M| 46,200/ 127,000/ -
PO N 17,2001
LN 8,660[| 11,5001  11,500/| 31,6600 1B#Ffji€:£
1A= 810 1,080 1,080 2,970 15#%?97;:}]2 460 500/
oK 650 8701 87011 2,390 15#%;7;:}]2 4601|5004
ERE 3 550 760 7601 2,070 wﬁﬁﬂ;% 430M| 4304
+= N2
AR R 3901 5301 5301 1,450 luﬂﬁﬁﬁig‘g 210M| 210
+= N2
5K R 3901 5301 5301 1,450 luﬂﬁﬁﬁig‘g 210M| 210
+- N2
R s 970 1,310 1,310/ 3,590 wﬁﬁﬁigﬁ 90 90
+= N2
ERC R 6501 870 870 2,390 wﬁﬁﬁigﬁ 501 50
+= N2
CIRTT S 3901 530 530 1,450/ mﬁaﬁigﬁ 201 20/
+= Nz
A = 390 530 530 1,450/ mﬁaﬁigﬁ 201 20/
B o L
72EA K T,000 1R 24720
ANy, 4,110/ 5,490 5,490 15,090 5.0407]
Sy [EERTsEe
AN 1,000 %#4 23,000 N
= |PuTFormEs 6,170 8,230 8,230M|  22,630M WRRIS7Z01 - 2rom | 790y
[ P TG ey e 3,060
=
3,000 &8 25 A N
R oA I T 8,230 10,9001 10,900 30,0301 1R 5720
N 4,080
BUNSHE=R it i s R 720 5201 Ve i P EHL R 8H7-0 210
BN Ji s A5 L R & 7=0 520 oz BN H7-=0 210




% 1 HEHEIFEEERZTOMIITIET DB NEHE T 556813 AGEHEZEINL2WIGAICH - TH,
3,000 2B 2 5 A EHe 2 i8I 3 5L D EARTR T,

2 FETORFDL R SRFETH A T 255 12H > UTEFDDLF % L ETOM), F1& 1RO
10BFETHHEEFIH 9255 128> TLA &SRB 61 £ TOMITARDFI VRN (/iR B L 24
DR RS )13, TR 5,

3 ZORIZEIT D% O IS 70BN B R A E T H5A1E. ZORITHEITHEEIC TR 2720100
FHCFR A I s B O EAS I B 1 OREF (Fn Uy M LDAHDEL, 150U v MR OSSN AUz &
1, 2O EYIVIETHLDOET D, ) 2R UL INE LT 5,



2 BRAEA AR

T3] BYEA =XV FIEHE D%
BERSRRIAE S T, ) —x 4,160
T (B % OV BERE - 2, ) —R 6,57011
= k=) 100H
5 2 & 509
B & 2 1R 50H
NE k=) 5011
APIH —3 1,630
Y H —3 2,180
RrH 5 1 1,080
s —2 8704
H<VE & 100H
A 1 100

" EEHTEOR) 1 210H

o | E#Ez=0y 142 1001

L I 18 760/

i F—— -

N —h —3 2,180
INAAE N 100
F AT 18 1004
1 JAE FH JEE AT (5] 1 100
FEHW —3X 1,080
5 15 1,080
Gl 15 530
FREF MG, 5 — 530
27 RS 5 15 50H
NI ANA R Lig 1004
IRERAEE —x 4,380H
1EE P ER —x 1,080
[ 3= —= 5,490
PEFREEEGR— V) — 2,730
LI ECRESHE) — 1,310
ey R T ¥ 1A 760H
LRI NF YRS L —F— 16 760

. |TvonAt =Tt T T a2 — NS 1,080

w [S=FAs s — 14 1,080/

(27— — S — 140 5301

fi BaEh AL — 0 — 1A 5301
SR ATaR —= 530
TAYL A=A IEN 530
aryFot—~<A7 N 530
EAFIvI~<AY [N 5304




T3] BaES =XV IR BHE D%
77 AMER) 151 530
a7 —RY R TA R 141 1,080M
A= —FARK 151 1,080
P2 g TAh 1% 2,180
AR RTAR k=) 310H
T /=R NI A R 141 1,310
Zu M ARTANE) -2 2,180
ZurMARTARN) -2 2,180
=T AR T A -2 2,180

» B =R ITA 15 2,180

TS BN 210H

| axs 2 — AR b IA R 16 1,0801

LN e 5 5501
FTe T4 TR 15 100
T —R— () & 1,080
X7 —R—/L(ER) & 1,080
TrAT —~ 15 1,080
F—aIwi 15 1,080
B~ 15 1,080H
AT—I= —3 3,270
N =M= & 1,080H
Bk —x 1,080

o ABA LT =2 A(FR—IVH) 15 8,760
Y~ (RE =) 15 1,630
16mmik TAEGR— /L ) —3 4,350

g& [l = SR/ E —3 1,630

2 [poremeri —t 1,080

i |F—"—r~wRN =g — —= 1,080
AT) = (FR—/V ) —iE 1,080
L IAZ 2 e 100

%5 ZORICEDHFEIT., RIS EFETOM. 4% 1S54 5 E TO /] K M4 6>
BFZI0RFETO R DOA1EIRY 720 ORI HEME DR THD,




